ABOEFHEEDELEHICEHTINIREEES
| EEOME  SHSESA28 BN HRAERZ

2 PHRFZIOREICIDEZEHICHTIXHOEHEDHRE CEERZERE ML)
1,912,600 H




3 HESNDEF

= # & K & & iz T B % K BHE 5R158M5
HARE %1 mEa
HMEEEKA F B F 6A 6BET
= A X
E1- 55k A B #F 70,000
(EE %) B % (ZFhi%E) * E % _
iz BEBBEME
M 65 &
B E &
X B #E
Rl & 182, 600
L &5 & 33, 000
X B #
R & & 4,000
Z DDk 1 ® A &
Z DDA 222,720 M &
4 @ E 222,720 4 @B 3 289, 600
ORI CI G
@ H 222,720 fa & 289, 600




I H Hifffi (A) W (B) % (A) x (B)=(C)
205 R
ARAEHESE KR 2 — DR 1760 M 38 # 66 880 M
o 66. 830 M
wEE2ZESAH SHS5E6H8H g 1 [B $;HR & &




